BIRZEIT UNIVERSITY
MATHEMATICS DEPARTMENT
Midterm Exam Stat 236 Summer ] 2012
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Discrete Random Variable
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(1 - 8)A survey was conducted about a” No srr]okmg ‘policy at BZU. The students were asked J—QT '
whether they were in favor of (identified by 1) or against (identified by 2) indoor smoking, about = 2.0
month!y expenditure and cumulative average. The following is a sample of the results: Kf)
| Student # | Gender No smoking | X =Expenditure | Y=Cumulative
Policy (NIS) Average _ q
1. Male 1 u.s 9 83 : X X
2. Male 2 5.5 8t N @ ~& |2
/3. Female 2 -9 F5 ] TON i ~ € |3
/4. Female 1 i 35 4. 75 -4
_ / 5. Male 2 = 4.5 2 — _ é
6. Female | | 2 165 R, /3 NN
7. Female 1 2.5 5] 82 2 ~2 Y
3. Male 2 Q 55 78, (T3 -1
f 9. Male 2 2 8.5 &5 N % !
10 Female 1 i &5 e L, =L ] |
/ 11, Male 1 a5 61 78 Z 2 L
12 Female 1 : B3| : 80 ! 2 ’
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For the varlable “Cumulatlve Average” find
1. The mean, median, and mode.
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For the variable “Expenditure”, find
3. The five humber summary

0=

= 25 X j2 = ?‘:“_9665-—% i s
&21 /50 X’Q_ é‘_?v___ﬂ -75

V5= TS xl2 s 9, 10— leq

@-Rs .
4. The limits of the box plot. Is there any outliers?
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5 Construct a scatter diagram for the two variables “Expenditure
scatter diagram give an indication about the relationship between fhetwo
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7. Find the prgggﬁﬁlty that a randomly selected student is a'male or or he is against indoor
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8. Are the two varlables “Gender” and “No smoking pohcy” independent. Explain using

probablhty med¢  Bgins) SmaK
e P ( ﬁ!/\ZJ = P(M) X pr2) /
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9. A six-sided die is'tossed 3 times. Find the probab111ty of observing three ones in a row
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.,1.0.'. IfP (A)=05,P(B)=04, and P(AU B)=0.88, find P (B/A)?Are A, B independen? DR .M.. .
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11. A sample of the monthly amounts spent for food by BZU students has a symmetric 2'S £ g.y ~
distribution. The samgl%mmﬁl 00 and the standard deviation is ilO Find the percent of a q
the monthty food expenditures less than $130is . ~{pa
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(12 - 13) A sample of 100 BZU/S/tL;d;ntS ‘was asked how many cups of coffee they drink in the
morning. You are given the §1ollow1ng sample information.

Cups of Coffee Frequency Fex) x Fes Ex})
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12. Fmd the probability that a selected random person drunk a?iﬁst 1 Me ina
morning.
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13. Find the expected number of drunk cups-6f coffee
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(14 16)A production process produces 90% non-defective parts.

14, Ifa sample of 18 paris from the production process is selected. What is the probablhty that
_ the sample will contain at least 4 defective parts?
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15, If a sample of 15 parts from the production process is selected. What is the probability that

the sample will contain 7 non-defective parts?
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16. If a sample of 2500 parts from the production process is selected. What is the expected
number and the standard deviation of the defective parts
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(17 - 20) Ramallah Hospitai has noted that they admit an average of 8 patients per hour.
17. What is the probability that during the next hour less then 3 patients will be admitted?

PEx<3) = P(QQH— PCU +pco)
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18. What is the probability that during the next half hour exactly 5 patients will be admitted?
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19. What is the expected number of admitted patients in any given
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20. Which of the following is a discrete and which is a continuous vafiable? ™
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a. The volume of water released from a dam

(E'D"
b. The distance you drove yesterday.  can bin won S -
c. Thé number of employees of an insurance company Adis @ / _,

d. The amount of milk produced by a cow in one 24-hour period__ - ,p & fHugus

€. The number of gallons of milk sold at the local grocery store yesterday < LQ
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